Lindley
Part

EA900
EA900H
TL500
TL505
TL525

TL515
TLO44
TL550
TL525H

TL515
TLO44
TL550H
TL250

TL200
TL299
TLO30
TLO31
TLOO1
TLO10
TLO40
TLO42
TL299
TLO51
TLO50
TLO53
TLO52
TL300
TL850

TL800
TLO81
TLO72
TLO70
TLO43
TLO8O

TLO72
TLO81
TLO70
TLO43
TLO32

TLO35

TLOO1
TLO10
TLO32
TLO40
TL145

TLO46
TLO61

TLO60
TLO43
TLO71
TL105

TL110
TLO61
TL140

TLO35
TL105
TL145

VIBRA STRIKE | PARTS LIST

Description

Robin Two Stroke Engine
Honda Four Stroke Engine With Clutch
Flex Hose
Cable Housing
Cable Housing Complete For Robin
Includes.....
Cable Housing W/Flex Hose
Starliner W/Set Screw
Robin Drive Cable
Cable Housing Complete For Honda
Includes.....
Cable Housing W/Flex Hose
Starliner W/Set Screw
Honda Drive Cable
Cast Housing Complete
Includes.....
Cast Housing W/Sleeve
Eccentric Weight Kit
3/4" Rubber Bushing (requires 2) Front
1" Rubber Bushing (requires 2) Back
3 1/2" x 7/16" Bolt (requires 2)
7/16" x 1 1/2" Flat Washer (requires 2)
7/16" Nut (requires 2)
9/16" Nut
Eccentric Weight Kit
Shaft
Snap Ring
Spacer
Bearings, (requires 3), (1 top, 2 bottom)
Eccentric Weight
Kickstand Complete
Includes.....
Kickstand
Kickstand Bracket N/A
1 1/2" Screw
3/8" Set Screw
Nut (#10 Self Locking)
Kickstand Bracket Complete
Includes.....
1 1/2" Screw
Kickstand Bracket N/A
3/8" Set Screw
Nut (#10 Self Locking)
Frame Connector Bushings (requires 4)
3/4" 1D x 1 1/2" OD x 3/4" 75 Durometer)
Frame Connector Bushing Set
Includes:
3 1/2 “x 7/16” Bolt (requires 2)
7/16"x 1 1/2" Flat Washer (requires 2)
3/4"ID x 1 1/2"0D x3/4" 75 Durometer (requires 4)
7/16" Nut (requires 2)
Magnesium Frame Connector
Includes.....
5/16" Skt Hd Screw 1 1/4" Lg (requires 4)
Spring Clip Complete
Includes:
Spring Clip) ( Not Sold) N/A
#10 Self Locking Nut
#10 Skt Hd 3/4" Screw
Magnesium Frame W/Spring Clip Less Connector
Includes:
Magnesium Frame
Spring Clip Complete
Magnesium Frame Less Lift Handle
Includes.....
Frame Connector Bushings Set
Magnesium Frame W/Spring Clip
Magnesium Frame Connector)

18

Item #

50

abw

gabw

31
24,22,21

14,15,16,34
21,22,24,31
32



TL155

TL145
TLO35
TLO61
TL425
TL425

TLO39
TL320
TLO12
TL605R

Magnesium Frame WI/Lifting Handle
Includes.....
Magnesium Frame Connector
Frame Connector Bushing Set
Spring Clip Complete
Magnesium Cast Lifting Handle
Magnesium Cast Lifting Handle
Includes.....
SHCS 1/4"-20 x 3/4" Bolts) (requires 4)
Four Stroke Engine Adapter
3/8” Set Screw
Red ON/OFF Switch

ZECTION WIEW
STARLIMER W ,/CABLE HOUSIMNG

32
14,15,16,34
24,22,21

33






